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QUESTION 1

A customer has a large campus that requires 400 Aruba 335 APs to support a total of 10,000 wireless users and
12Gbps of traffic. Although the customer wants two controllers for redundancy, each controller must be able to support
all of the APs and users on its own. 

Which Aruba Mobility Controller models meet the customer requirements and DO NOT unnecessarily exceed them? 

A. Aruba 7024 controllers 

B. Aruba 7210 controllers 

C. Aruba 7240 controllers D. Aruba 7030 controllers 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibits. Exhibit 1 

Exhibit 2 
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A company has an Aruba solution. Client 1 is assigned to the users1 role, and client 2 is assigned to the users2 role.
The exhibits show current firewall rules for those roles. The network1 alias used to be 10.1.1.0/24, but the network
administrator now changes the network1 alias to 172.16.1.0/24. Client 1 and Client 2 both send a packet destined to
172.16.1.10. 

How does the firewall handle these packets? 

A. It permits the packet from Client 1 and denies the packet from Client 2. 

B. It permits both packets. 

C. It denies the packet from Client 1 and permits the packet from Client 2. 

D. It denies both packets. 

Correct Answer: A 

 

QUESTION 3

What is a reason for a company to choose to deploy an Aruba 7024 Mobility Controller (MC) rather than an Aruba 7010
MC? 

A. to support 802.11ac Aps rather than only 802.11n APs 

B. to support more wireless users 
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C. to support more POE devices directly connected to the MC 

D. to support a faster firewall throughput rate 

Correct Answer: C 

 

QUESTION 4

A company has an Aruba Mobility Master (MM)-based solution. Under which circumstance will an AP radio change
channel without the use of the Mobility Master (MM)? 

A. when the MM detects that a different channel has significantly better quality 

B. when the Mobility Controller (MC) detects a rogue AP on the channel 

C. when the AP detects a large amount of interference on its channel 

D. when the Client Match rules indicate that nearby clients do not support the current channel 

Correct Answer: C 

 

QUESTION 5

A network administratpr adds several new APs to an Aruba solution that uses AirMatch. The administrator does not
want to change the channel for the existing APs, but wants the new APs to receive a provisional plan for their channels
and power. 

What should the administrator do to meet this goal? 

A. Run an on-demand quick AirMatch optimization. 

B. Run an on-demand incremental AirMatch optimization. 

C. Temporarily enable ARM on the existing and new APs, while AirMatch scheduling remains enabled. 

D. Temporarily disable AirMatch scheduling, and then enable ARM on the existing and new APs. 

Correct Answer: B 
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